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EH K4 2E #H BEIRE 3 BAh

100m WE MK 3 31 2 12726 -0.8
AR M 3 25 3 12726 -0.9
EH mE 3 32 1 12736 -0.1
X5 (B 3 31 3 12747 -0.8
EM EARER 3 38 1 12”55 -0.8
HIE Ints 3 37 1 12758 -0.4
=W BRAR 3 37 2 12761 -0.4
LR K 2 40 12761 -1.4
=H Kig 2 40 2 12765 -14
5t2 48 3 39 1 12769 -1.9
INE 1R 3 39 4 12787 -1.9
INE R 3 43 1 12798 -05
&% B4 2 42 A 12799 -0.1
SH £ 3 41 3 13”709 +0.4
ZHE ZHth 3 40 4 13717 -14
b4 R 2 44 1 13723 +0.2
AHF & 3 40 5 13726 -1.4
AER B3} 2 42 4 13”740 -0.1
MR EBR 2 4 5 13”740 +0.4
mE BN 2 44 2 13”741 +0.2
B+ A 3 44 3 13747 +0.2
e &% 2 43 2 13”755 -05
AT & 3 45 13”756 +0.8
RIS Rk 3 44 4 13”75 +0.2
HE X 2 42 6 13”81 -0.1
ki =KE8 2 44 5 13787 +0.2
R BEA 2 43 3 14”00 -0.5
MO Bt 2 44 6 14703 +0.2
TH 55 2 45 3 14”23 +0.8
INBR FOSE 2 45 4 14744 +0.8
LA = 2 45 5 14”52 +0.8

A K4 24 H EIR L5

800m PR UNE P 3 10 1 206”70

A K4 2E H EIR FOER

3000m BK PRk 3 1 10 9'30"78
EH K& 2 2 7 1000”31
I figE 2 2 8 1000”39
Bl R/RR 3 2 9 1009”24
A S 3 2 11 10'13”90
TR RE 3 3 7 1021767
& Ei 3 2 14 1025”31
ZHE B 2 3 10 1038”49
AR —F 3 3 13 11'00”38
HiE EhE 3 3 14 1103”74
EH AR 3 3 15 1108”08
BA Ef 2 4 8 1119”18
#}|AR BRE 2 4 9 1131733
EH A 2 4 10 1137767
SLIE) 2 4 1 11'39742




